

Riesz summability with speed of orthogonal series

NATALIA SAEALLE AND HEINO TÜRNPÜ

ABSTRACT. Sufficient conditions for summability with speed of orthogonal series are found.

1. Main result

Let $\varphi = \{\varphi_k\}$ be a system of orthogonal functions on $[a, b]$, and let $\lambda = (\lambda_k)$ be a sequence with $0 < \lambda_k \nearrow \infty$. We shall consider the series of the form

$$\sum \xi_k \varphi_k(t),$$

where $x = (\xi_k) \in \ell_\lambda^2$, i.e. $\sum \xi_k^2 \lambda_k^2 < \infty$.

We shall use the following definitions from [1].

Let $A = (a_{nk})$ be a triangular summability method and let $z = (\zeta_k) \in c$ with $\lim \zeta_k = \zeta$.

The sequence z is said to be *convergent with speed* λ or λ -*convergent*, if the limit

$$\lim_n \lambda_n (\zeta_n - \zeta)$$

exists. The set of all λ -convergent sequences is denoted by c^λ .

The sequence z is said to be *A-summable with speed* λ or A^λ -*summable*, if $y = (\eta_n) \in c^\lambda$, where

$$\eta_n = \sum_{k=0}^n a_{nk} \zeta_k.$$

The summability method A is said to be *λ -convergence preserving* if every element of the set c^λ is A^λ -summable.

Received December 8, 2000.

2000 *Mathematics Subject Classification*. 40C05, 42C15.

Key words and phrases. Orthogonal series, summability with speed, Riesz summability, maximal summability, Lebesgue functions.

Supported in part by Estonian Science Foundation Grant 3991.

The series $\sum \xi_k \varphi_k(t)$ is said to be A^λ -summable almost everywhere (a.e.) on $[a, b]$ if it is A -summable a.e. on $[a, b]$, i.e. the limit

$$\lim_n \sum_{k=0}^n \alpha_{nk} \xi_k \varphi_k(t) = f_x(t) \quad (1)$$

exists a.e. on $[a, b]$, and the limit

$$\lim_n \beta_n(A, x, t) \quad (2)$$

exists a.e. on $[a, b]$, where

$$\beta_n(A, x, t) = \lambda_n \left(\sum_{k=0}^n \alpha_{nk} \xi_k \varphi_k(t) - f_x(t) \right)$$

and

$$\alpha_{nk} = \sum_{\nu=k}^n a_{n\nu}.$$

The series $\sum \xi_k \varphi_k(t)$ is said to be *maximally* A^λ -summable if the limits (1) and (2) exist and

$$\int_a^b \sup_n |\beta_n(A, x, t)| dt < \infty.$$

The starting point of this paper is the following theorem.

Theorem 1 (see [7]). *Let A be λ^2 -convergence preserving and let*

$$\lim_n \alpha_{nk} = 1 \text{ for all } k \in \mathbb{N}.$$

The series $\sum \xi_k \varphi_k(t)$ is A^λ -summable a.e. on $[a, b]$ for all $x \in \ell_\lambda^2$ if and only if the following conditions hold:

- 1° $\sum \xi_k \varphi_k(t)$ is A -summable a.e. on $[a, b]$ for every $x \in \ell_\lambda^2$;
- 2° For each $\varepsilon > 0$ there exist a measurable subset $T_\varepsilon \subset [a, b]$ satisfying $\text{mes} T_\varepsilon > b - a - \varepsilon$ and a constant $M_\varepsilon > 0$ such that, for all measurable decompositions

$$\mathfrak{M}_m = \{ \mathfrak{M}_{mn} : n = 0, 1, \dots, m; \mathfrak{M}_{mk} \cap \mathfrak{M}_{mn} = \emptyset \text{ if } k \neq n; \bigcup_{n=0}^m \mathfrak{M}_{mn} = [a, b] \}, \quad (3)$$

one has

$$A_m(\varepsilon) = \left| \int_{T_\varepsilon} \int_{T_\varepsilon} \sum_{n=0}^{m-2} \chi_{mn}(t) \sum_{p=n+1}^{m-1} \chi_{mp}(\tau) \sum_{\nu=0}^m \varphi_\nu(t) \varphi_\nu(\tau) D_{n\nu}^m dt d\tau \right| \leq M_\varepsilon, \quad (1)$$

where $\chi_{mn} = \chi_{\mathfrak{M}_{mn}}$ and

$$D_{n\nu}^m = \begin{cases} (\alpha_{m\nu} - \alpha_{n\nu})(\alpha_{m\nu} - \alpha_{p\nu}) \frac{\lambda_n \lambda_p}{\lambda_\nu^2}, & \text{if } 0 \leq \nu \leq n < p < m, \\ \alpha_{m\nu}(\alpha_{m\nu} - \alpha_{p\nu}) \frac{\lambda_n \lambda_p}{\lambda_\nu^2}, & \text{if } n < \nu \leq p < m, \\ \alpha_{m\nu}^2 \frac{\lambda_n \lambda_p}{\lambda_\nu^2}, & \text{if } n < p < \nu \leq m. \end{cases} \quad (2)$$

In the present paper we shall mainly consider the case, when A is the Riesz summability method P , i.e.

$$a_{nk} = \begin{cases} \frac{p_k}{P_n}, & k \leq n, \\ 0, & k > n, \end{cases}$$

where $p_k > 0$ and $P_n = \sum_{k=0}^n p_k \nearrow \infty$.

Note that the Riesz summability method P is λ -convergence preserving if and only if (see [2])

$$\frac{\lambda_n}{P_n} \sum_{k=0}^n \frac{p_k}{\lambda_k} = O(1).$$

If P is λ -convergence preserving, then clearly

$$\frac{\lambda_n}{P_n} = O(1) \frac{\lambda_k}{P_k} \quad \text{for } k \leq n, \quad k, n \in \mathbb{N}. \quad (4)$$

Hence, if the method P is λ^2 -convergence preserving, i.e.

$$\frac{\lambda_n^2}{P_n} \sum_{k=0}^n \frac{p_k}{\lambda_k^2} = O(1), \quad (5)$$

then

$$\frac{\lambda_n^2}{P_n} = O(1) \frac{\lambda_k^2}{P_k} \quad \text{for } k \leq n, \quad k, n \in \mathbb{N}. \quad (6)$$

Since by the Cauchy inequality

$$\frac{\lambda_n}{P_n} \sum_{k=0}^n \frac{p_k}{\lambda_k} \leq \left(\frac{\lambda_n^2}{P_n^2} \sum_{k=0}^n \frac{p_k}{\lambda_k^2} \sum_{k=0}^n p_k \right)^{1/2} = \left(\frac{\lambda_n^2}{P_n} \sum_{k=0}^n \frac{p_k}{\lambda_k^2} \right)^{1/2},$$

we have that if P is λ^2 -convergence preserving, then P is also λ -convergence preserving.

The main objective of this paper is to prove the following theorem.

Theorem 2. *Let condition (5) hold, and let*

$$\frac{\lambda_n^2}{P_{n-1}} \searrow 0, \quad p_n = O(P_{n-1}), \quad (7)$$

$$\frac{1}{p_n} \Delta \frac{1}{\lambda_n^2} \searrow 0, \quad (8)$$

where

$$\Delta \frac{1}{\lambda_n^2} = \frac{1}{\lambda_n^2} - \frac{1}{\lambda_{n+1}^2}.$$

If

$$\int_a^b \sup_k L_k(P, t) dt < \infty, \quad (9)$$

where

$$L_k(P, t) = \int_a^b \left| \sum_{\nu=0}^k \left(1 - \frac{P_{\nu-1}}{P_k}\right) \varphi_\nu(t) \varphi_\nu(\tau) \right| d\tau,$$

with $P_{-1} = 0$, are the Lebesgue functions of the method P , then the series $\sum \xi_k \varphi_k(t)$ is maximally P^λ -summable a.e. on $[a, b]$ for every $x \in \ell_\lambda^2$.

Let us remark that, in 1969, G. Kangro proved the following result.

Theorem 3 (cf. [2]). *If $(1/\lambda_k)$ is a sequence of summability factors of type (A, A^λ) , i.e. the series*

$$\sum \frac{1}{\lambda_k} \zeta_k$$

is A^λ -summable for every A -summable series $\sum \zeta_k$, then the A -summability a.e. on $[a, b]$ of the series $\sum \xi_k^0 \varphi_k(t)$, where $x_0 \in \ell^2$, implies the A^λ -summability of the series $\sum \frac{\xi_k^0}{\lambda_k} \varphi_k(t)$ a.e. on $[a, b]$.

If conditions (5), (7) and (8) are fulfilled, then from Theorem 29.3 of [1], it follows that $(1/\lambda_k)$ is a sequence of summability factors of type (P, P^λ) . Therefore we have that if conditions (5), (7) and (8) hold, then the P -summability a.e. of the series $\sum \xi_k \varphi_k(t)$ for every $x \in \ell^2$ implies the P^λ -summability of the series $\sum \xi_k \varphi_k(t)$ for every $x \in \ell_\lambda^2$. Note that the above argument does not imply the maximal P^λ -summability of the series $\sum \xi_k \varphi_k(t)$ for every $x \in \ell_\lambda^2$.

2. Main Lemma

The proof of Theorem 2 is based on the following lemma.

Lemma 4. *If conditions (5), (7) and (8) hold, then for each $\varepsilon > 0$ there exists a measurable subset $T_\varepsilon \subset [a, b]$ satisfying $\text{mes}T_\varepsilon > b - a - \varepsilon$ such that for all decompositions (3) one has*

$$A_m(\varepsilon) = O(1) \int_{T_\varepsilon} \sup_{k \leq m} L_k(P, t) dt. \quad (10)$$

Proof. Denote

$$R_j(t, \tau) = \sum_{\nu=0}^j \alpha_{j\nu} \varphi_\nu(t) \varphi_\nu(\tau),$$

where

$$\alpha_{j\nu} = 1 - \frac{P_{\nu-1}}{P_j}.$$

Then

$$\varphi_\nu(t) \varphi_\nu(\tau) = \sum_{k=0}^{\nu} \eta_{\nu k} R_k(t, \tau),$$

where $(\eta_{nk}) = P^{-1}$ is the inverse matrix of P .

From [1] (see p. 193) it follows that

$$\sum_{\nu=k}^m \eta_{\nu k} D_{n\nu}^m = P_k \Delta \frac{\Delta D_{npk}^m}{p_k},$$

and therefore

$$\begin{aligned} A_m(\varepsilon) &= \left| \int_{T_\varepsilon} \int_{T_\varepsilon} \sum_{n=0}^{m-2} \chi_{mn}(t) \sum_{p=n+1}^{m-1} \chi_{mp}(\tau) \sum_{\nu=0}^m \sum_{k=0}^{\nu} \eta_{\nu k} R_k(t, \tau) D_{n\nu}^m dt d\tau \right| \\ &= \left| \int_{T_\varepsilon} \int_{T_\varepsilon} \sum_{n=0}^{m-2} \chi_{mn}(t) \sum_{p=n+1}^{m-1} \chi_{mp}(\tau) \sum_{k=0}^m R_k(t, \tau) P_k \Delta \frac{\Delta D_{npk}^m}{p_k} dt d\tau \right| \\ &= \left| \int_{T_\varepsilon} \int_{T_\varepsilon} \sum_{n=0}^{m-2} \chi_{mn}(t) \sum_{p=n+1}^{m-1} \chi_{mp}(\tau) \lambda_n \lambda_p \left[\sum_{k=0}^m R_k(t, \tau) \left(\Delta_k^1(n, p, m) \right. \right. \right. \\ &\quad \left. \left. \left. + \Delta_k^2(p, m) + \Delta_k^3(p, m) \right) \right] dt d\tau \right|, \end{aligned}$$

where

$$\Delta_k^1(n, p, m) = \begin{cases} P_k \Delta \frac{\Delta \left[(\alpha_{mk} - \alpha_{nk})(\alpha_{mk} - \alpha_{pk}) \frac{1}{\lambda_k^2} \right]}{p_k} & \text{if } 0 \leq k < n, \\ \frac{P_n \alpha_{nn} (\alpha_{mn} - \alpha_{pn})}{\lambda_n^2 p_n} & \text{if } k = n, \\ 0 & \text{if } k > n, \end{cases}$$

$$\Delta_k^2(p, m) = \begin{cases} P_k \Delta \frac{\Delta \left[\alpha_{mk} (\alpha_{mk} - \alpha_{pk}) \frac{1}{\lambda_k^2} \right]}{p_k} & \text{if } n \leq k < p, \\ \frac{P_p \alpha_{mp} \alpha_{pp}}{\lambda_p^2 p_p} & \text{if } k = p, \\ 0 & \text{if } k < n \text{ or } k > p, \end{cases}$$

and

$$\Delta_k^3(p, m) = \begin{cases} P_k \Delta \frac{\Delta \left[\alpha_{mk}^2 \frac{1}{\lambda_k^2} \right]}{p_k} & \text{if } p \leq k < m-1, \\ P_{m-1} \left(\frac{\alpha_{m,m-1}^2}{\lambda_{m-1}^2 p_{m-1}} - \frac{\alpha_{mm}^2}{\lambda_m^2 p_{m-1}} - \frac{\alpha_{mm}^2}{\lambda_m^2 p_m} \right) & \text{if } k = m-1, \\ P_m \frac{\alpha_{mm}^2}{\lambda_m^2 p_m} & \text{if } k = m, \\ 0 & \text{if } k < p. \end{cases}$$

Observe, that

$$|\Delta_k^1(n, p, m)| \leq \frac{P_k}{P_n P_p} \left| \Delta \frac{\Delta \frac{P_{k-1}^2}{\lambda_k^2}}{p_k} \right| \quad \text{for } 0 < k < n,$$

by (4)

$$\Delta_n^1(n, p, m) = O(1) \frac{1}{\lambda_n^2 P_p} = O(1) \frac{1}{\lambda_n \lambda_p P_n},$$

and

$$\Delta_p^2(p, m) = O(1) \frac{1}{\lambda_p^2}.$$

Denote

$$M_n = \frac{P_n}{p_n} \lambda_n^2 \Delta \frac{1}{\lambda_n^2}.$$

From (7) it follows that $M_n \leq 1$ for all $n \in \mathbb{N}$. Therefore

$$\Delta_{m-1}^3(p, m) = \frac{P_{m-1}}{p_{m-1}} \Delta \frac{\alpha_{m,m-1}^2}{\lambda_{m-1}^2} - \frac{p_m}{\lambda_m^2 P_m^2} = O(1) M_{m-1} \frac{1}{\lambda_{m-1}^2} + O(1) \frac{1}{\lambda_m^2},$$

and

$$\Delta_m^3(p, m) = O(1) \frac{1}{\lambda_m^2}.$$

Thus

$$\begin{aligned}
 A_m(\varepsilon) &\leq \int_{T_\varepsilon} \int_{T_\varepsilon} \sum_{n=0}^{m-2} \chi_{mn}(t) \frac{\lambda_n^2}{P_n P_{n-1}} \sum_{k=0}^{n-1} \left| P_k \Delta \frac{\Delta \frac{P_{k-1}^2}{\lambda_k^2}}{p_k} \right| |R_k(t, \tau)| dt d\tau \\
 &\quad + \int_{T_\varepsilon} \int_{T_\varepsilon} \sum_{p=1}^{m-1} \chi_{mp}(\tau) \lambda_p^2 \left[\sum_{k=0}^{p-1} |\Delta_k^2(p, m)| |R_k(t, \tau)| \right. \\
 &\quad \quad \left. + \sum_{k=p}^{m-2} |\Delta_k^3(p, m)| |R_k(t, \tau)| \right] dt d\tau \\
 &\quad + O(1) \int_{T_\varepsilon} \int_{T_\varepsilon} \sum_{n=0}^{m-2} \chi_{mn}(t) \sum_{p=n+1}^{m-1} \chi_{mp}(\tau) \left[|R_n(t, \tau)| + |R_p(t, \tau)| \right. \\
 &\quad \quad \left. + |R_{m-1}(t, \tau)| + |R_m(t, \tau)| \right] dt d\tau.
 \end{aligned}$$

Now we have

$$\begin{aligned}
 A_m(\varepsilon) &\leq \int_{T_\varepsilon} \sup_{k < m} L_k(P, t) dt \sup_{n < m} \frac{\lambda_n^2}{P_n P_{n-1}} \sum_{k=0}^{n-1} \left| P_k \Delta \frac{\Delta \frac{P_{k-1}^2}{\lambda_k^2}}{p_k} \right| \\
 &\quad + \int_{T_\varepsilon} \sup_{k < m} L_k(P, \tau) d\tau \sup_{p < m} \lambda_p^2 \sum_{k=0}^{p-1} |\Delta_k^2(p, m)| \\
 &\quad + \int_{T_\varepsilon} \sup_{k < m} L_k(P, \tau) d\tau \sup_p \lambda_p^2 \sum_{k=p}^{m-2} |\Delta_k^3(p, m)| \\
 &\quad + O(1) \int_{T_\varepsilon} \sup_{k < m} L_k(P, t) dt.
 \end{aligned}$$

Therefore, in order to prove (10), it is sufficient to show that

$$V_{npm}^i = O(1), \quad i = 1, 2, 3,$$

where

$$V_{npm}^1 = \frac{\lambda_n^2}{P_n P_{n-1}} \sum_{k=0}^{n-1} P_k \left| \Delta \frac{\Delta \frac{P_{k-1}^2}{\lambda_k^2}}{p_k} \right|,$$

$$V_{npm}^2 = \lambda_p^2 \sum_{k=0}^{p-1} |\Delta_k^2(p, m)|, \quad V_{npm}^3 = \lambda_p^2 \sum_{k=p}^{m-2} |\Delta_k^3(p, m)|.$$

By [4] (see p. 220) we have that, for any sequence $(a_n) \subset \mathbb{R}$,

$$\begin{aligned} P_k \Delta \frac{\Delta \frac{a_k}{\lambda_k^2}}{p_k} &= \left(\Delta \frac{1}{\lambda_k^2} + \Delta \frac{1}{\lambda_{k+1}^2} \right) P_k \frac{\Delta a_k}{p_k} + \frac{1}{\lambda_{k+2}^2} P_k \Delta \frac{\Delta a_k}{p_k} \\ &\quad + P_k a_{k+1} \Delta \left(\frac{1}{p_k} \Delta \frac{1}{\lambda_k^2} \right). \end{aligned} \quad (11)$$

Consider the case when $i = 1$; then, by (11), we have

$$\begin{aligned} V_{npm}^1 &\leq \frac{\lambda_n^2}{P_n} \sum_{k=0}^{n-1} \left| \left(\Delta \frac{1}{\lambda_k^2} + \Delta \frac{1}{\lambda_{k+1}^2} \right) \frac{\Delta P_{k-1}^2}{p_k} \right. \\ &\quad \left. + \frac{1}{\lambda_{k+2}^2} \Delta \frac{\Delta P_{k-1}^2}{p_k} + P_k^2 \Delta \left(\frac{1}{p_k} \Delta \frac{1}{\lambda_k^2} \right) \right|. \end{aligned}$$

Since by (7)

$$\sum_{k=0}^{n-1} \left| P_k^2 \Delta \left(\frac{1}{p_k} \Delta \frac{1}{\lambda_k^2} \right) \right| = P_0^2 \frac{1}{p_0} \Delta \frac{1}{\lambda_0^2} - \sum_{k=0}^{n-1} \Delta P_k^2 \frac{1}{p_{k+1}} \Delta \frac{1}{\lambda_{k+1}^2} - \frac{P_{n-1}^2}{p_n} \Delta \frac{1}{\lambda_n^2},$$

we have

$$\begin{aligned} V_{npm}^1 &\leq \frac{\lambda_n^2}{P_n} \sum_{k=0}^{n-1} \left(\left(\Delta \frac{1}{\lambda_k^2} + \Delta \frac{1}{\lambda_{k+1}^2} \right) (P_{k-1} + P_k) + \frac{1}{\lambda_{k+2}^2} (p_k + p_{k+1}) \right) \\ &\quad + \frac{\lambda_n^2}{P_n} O(1) + \frac{\lambda_n^2}{P_n} \sum_{k=0}^{n-1} \left| \Delta P_k^2 \frac{1}{p_{k+1}} \Delta \frac{1}{\lambda_{k+1}^2} \right| + \frac{\lambda_n^2}{P_n^2} \frac{P_{n-1}^2}{p_n} \Delta \frac{1}{\lambda_n^2}. \end{aligned}$$

Now, by (5) and (6), we have

$$\begin{aligned} V_{n,p,m}^1 &\leq 2 \frac{\lambda_n^2}{P_n} \sum_{k=0}^{n-1} \left(\frac{p_k}{\lambda_k^2} M_k + \frac{p_{k+1}}{\lambda_{k+1}^2} M_{k+1} + p_{k+1} \Delta \frac{1}{\lambda_{k+1}^2} \right) \\ &\quad + \frac{\lambda_n^2}{P_n} \sum_{k=0}^{n-1} \left(\frac{p_k}{\lambda_k^2} + \frac{p_{k+1}}{\lambda_{k+1}^2} \right) + O(1) \\ &\quad + 2 \frac{\lambda_n^2}{P_n} \sum_{k=0}^{n-1} \frac{p_{k+1}}{\lambda_{k+1}^2} M_{k+1} + \frac{\lambda_n^2}{P_n^2} \frac{P_n}{\lambda_n^2} M_n + O(1) \\ &= O(1) \frac{\lambda_n^2}{P_n} \sum_{k=0}^n \frac{p_k}{\lambda_k^2} + O(1) \frac{\lambda_n^2}{P_n} \sum_{k=0}^{n-1} \frac{p_{k+1}}{\lambda_{k+1}^2} + O(1) \\ &= O(1). \end{aligned}$$

Analogously we have

$$\begin{aligned}
 (11) \quad V_{n,p,m}^2 &\leq \frac{\lambda_p^2}{P_p} \sum_{k=0}^{p-1} \left| P_k \Delta \frac{\Delta \alpha_{mk} P_{k-1}}{\lambda_k^2} \right| \\
 &\leq \frac{\lambda_p^2}{P_p} \sum_{k=0}^{p-1} \left| \left(\Delta \frac{1}{\lambda_k^2} + \Delta \frac{1}{\lambda_{k+1}^2} \right) P_k \frac{\Delta(\alpha_{mk} P_{k-1})}{p_k} + \frac{1}{\lambda_{k+2}^2} P_k \Delta \frac{\Delta(\alpha_{mk} P_{k-1})}{p_k} \right| \\
 &\quad + \frac{\lambda_p^2}{P_p} \sum_{k=0}^{p-1} \left| \alpha_{mk} P_k^2 \Delta \left(\frac{1}{p_k} \Delta \frac{1}{\lambda_k^2} \right) \right| \\
 &= O(1) \frac{\lambda_p^2}{P_p} \sum_{k=0}^{p-1} \left[\left(\Delta \frac{1}{\lambda_k^2} + \Delta \frac{1}{\lambda_{k+1}^2} \right) P_k + \frac{1}{\lambda_{k+2}^2} P_k \left| \Delta \left(\frac{P_k}{P_m} - \left(1 - \frac{P_{k-1}}{P_m} \right) \right) \right| \right] \\
 &\quad + \frac{\lambda_p^2}{P_p} O(1) + \frac{\lambda_p^2}{P_p} \sum_{k=0}^{p-1} \Delta(\alpha_{mk} P_k^2) \frac{1}{p_{k+1}} \Delta \frac{1}{\lambda_{k+1}^2} + \alpha_{m,p-1} \frac{\lambda_p^2}{P_p} \frac{P_p}{\lambda_p^2} M_p = O(1).
 \end{aligned}$$

Finally, for $i = 3$, we have

$$\begin{aligned}
 &V_{n,p,m}^3 \\
 &\leq \lambda_p^2 \sum_{k=p}^{m-2} \left| \left(\Delta \frac{1}{\lambda_k^2} + \Delta \frac{1}{\lambda_{k+1}^2} \right) P_k \frac{\Delta \alpha_{mk}^2}{p_k} + \frac{1}{\lambda_{k+2}^2} P_k \Delta \frac{\Delta \alpha_{mk}^2}{p_k} + P_k \alpha_{m,k+1}^2 \Delta \left(\frac{1}{p_k} \Delta \frac{1}{\lambda_k^2} \right) \right| \\
 &= O(1) \lambda_p^2 \sum_{k=p}^{m-2} \left(\Delta \frac{1}{\lambda_k^2} + \Delta \frac{1}{\lambda_{k+1}^2} \right) + \frac{\lambda_p^2}{P_m} \sum_{k=p}^{m-2} \left| \frac{P_k}{\lambda_{k+2}^2} \Delta(\alpha_{mk} + \alpha_{m,k+1}) \right| \\
 &\quad + \alpha_{m,p+1} \lambda_p^2 \frac{P_p}{p_p} \Delta \frac{1}{\lambda_p^2} + O(1) \lambda_p^2 \sum_{k=p}^{m-2} \Delta \frac{1}{\lambda_{k+1}^2} = O(1).
 \end{aligned}$$

The proof is complete.

3. Proof of Theorem 2

In the proof of Theorem 2, we shall make use of the following

Lemma 5 (see [5], pp. 142-144). *Let (f_n) be a sequence of integrable functions on $[a, b]$. Then for each measurable subset $T \subset [a, b]$ and for each $m \in \mathbb{N}$ one has*

$$\int_T \sup_{n \leq m} |f_n(t)| dt \leq 2 \sup_{\mathfrak{M}_m} \left| \int_T \sum_{n=0}^m \chi_{mn}(t) f_n(t) dt \right|,$$

where \mathfrak{M}_m ranges over all decompositions defined by (3).

Proof of Theorem 2. By [6] (see p. 201) the condition

$$L_n(P, t) = O_t(1) \text{ a.e. on } [a, b]$$

implies that the series $\sum \xi_k \varphi_k(t)$ is P -summable a.e. on $[a, b]$ for every $x \in \ell^2$.

From Theorem 1 and Lemma 4 it follows that the series $\sum \xi_k \varphi_k(t)$ is P^λ -summable a.e. on $[a, b]$ for every $x \in \ell_\lambda^2$.

To show the maximal P^λ -summability we prove that

$$\int_{T_\varepsilon} \sup_{n \leq m} |\beta_n(A, x, t)| dt = O(\|x\|_{\ell_\lambda^2}) + \sup_{\mathfrak{M}_m} \{A_m(\varepsilon)\}^{1/2}, \quad (12)$$

where $T_\varepsilon \subset [a, b]$ is a measurable subset with $\text{mes} T_\varepsilon > b - a - \varepsilon$ and \mathfrak{M}_m ranges over all decompositions defined by (3).

If condition (12) holds, then from (9) and (10) it follows that the series $\sum \xi_k \varphi_k(t)$ is maximally P^λ -summable a.e. on $[a, b]$ for every $x \in \ell_\lambda^2$.

We now prove (12). By Lemma 5

$$\int_{T_\varepsilon} \sup_{n \leq m} |\beta_n(A, x, t)| dt = O(1) \sup_{\mathfrak{M}_m} \left| \int_{T_\varepsilon} \sum_{n=0}^m \chi_{mn}(t) \beta_n(A, x, t) dt \right|.$$

Denote

$$\bar{\alpha}_{pk} = \alpha_{pk} - \alpha_{p-1,k},$$

then

$$\beta_n(A, x, t) = \lambda_n \sum_{p=n+1}^{\infty} \sum_{k=0}^p \bar{\alpha}_{pk} \xi_k \varphi_k(t) = B_{mn}(x, t) + C_{mn}(x, t),$$

where

$$B_{mn}(x, t) = \lambda_n \sum_{p=n+1}^m \sum_{k=0}^p \bar{\alpha}_{pk} \xi_k \varphi_k(t),$$

$$C_{mn}(x, t) = \lambda_n \sum_{p=m+1}^{\infty} \sum_{k=0}^p \bar{\alpha}_{pk} \xi_k \varphi_k(t).$$

Therefore

$$\begin{aligned} & \int_{T_\varepsilon} \sum_{n=0}^m \chi_{mn}(t) \beta_n(A, x, t) dt \\ &= O(1) \int_{T_\varepsilon} \sum_{n=0}^m \chi_{mn}(t) B_{mn}(x, t) dt + O(1) \int_{T_\varepsilon} \sum_{n=0}^m \chi_{mn}(t) C_{mn}(x, t) dt. \end{aligned}$$

By orthogonality of φ we have

$$\begin{aligned} & \left| \int_{T_\varepsilon} \sum_{n=0}^m \chi_{mn}(t) C_{mn}(x, t) dt \right| \\ & \leq \int_a^b \sum_{n=0}^m \chi_{mn}(t) \lambda_n \left| \sum_{k=0}^m \alpha_{mk} \xi_k \varphi_k(t) - f_x(t) \right| dt \\ & \leq \sqrt{b-a} \left[\sup_{k \leq m} \frac{\lambda_m |\alpha_{mk} - 1|}{\lambda_k} \left(\sum_{k=0}^m \xi_k^2 \lambda_k^2 \right)^{1/2} + \left(\sum_{k=m+1}^{\infty} \xi_k^2 \lambda_k^2 \right)^{1/2} \right]. \end{aligned}$$

(12)

If A is λ -convergence preserving, then by [3] (see Lemma 3)

$$\lambda_m |\alpha_{mk} - 1| = O(\lambda_k) \quad (k \leq m) \quad (13)$$

and therefore

$$\int_{T_\varepsilon} \sum_{n=0}^m \chi_{mn}(t) C_{mn}(x, t) dt = O(\|x\|_{l_\lambda^2}).$$

Denoting

$$A_p^m(t) = \sum_{n=0}^{p-1} \chi_{mn}(t) \lambda_n,$$

we have

$$\begin{aligned} & \int_{T_\varepsilon} \sum_{n=0}^m \chi_{mn}(t) B_{mn}(x, t) dt \\ & = \sum_{k=0}^m \xi_k \int_{T_\varepsilon} \sum_{p=k}^m \bar{\alpha}_{pk} \varphi_k(t) A_p^m(t) dt + \int_{T_\varepsilon} \sum_{n=0}^m \chi_{mn}(t) \lambda_n (\alpha_{m0} - \alpha_{n0}) \xi_0 \varphi_0(t) dt. \end{aligned}$$

Now by (13)

$$\int_{T_\varepsilon} \sum_{n=0}^m \chi_{mn}(t) B_{mn}(x, t) dt = \sum_{k=0}^m \xi_k \int_{T_\varepsilon} \sum_{p=k}^m \bar{\alpha}_{pk} \varphi_k(t) A_p^m(t) dt + O(\|x\|_{l_\lambda^2}).$$

Using the principle of uniform boundedness we get

$$\begin{aligned} & \sum_{k=0}^m \xi_k \int_{T_\varepsilon} \sum_{p=k}^m \bar{\alpha}_{pk} \varphi_k(t) A_p^m(t) dt \\ & = O(1) \left(\int_{T_\varepsilon} \int_{T_\varepsilon} \sum_{k=0}^m \frac{\varphi_k(t) \varphi_k(\tau)}{\lambda_k^2} \sum_{p=k}^m \bar{\alpha}_{pk} A_p^m(t) \sum_{\nu=k}^m \bar{\alpha}_{\nu k} A_\nu^m(\tau) dt d\tau \right)^{1/2} \|x\|_{l_\lambda^2}. \end{aligned}$$

Finally

$$\int_{T_\varepsilon} \int_{T_\varepsilon} \sum_{k=0}^m \frac{\varphi_k(t)\varphi_k(\tau)}{\lambda_k^2} \sum_{p=k}^m \bar{\alpha}_{pk} A_p^m(t) \sum_{\nu=k}^m \bar{\alpha}_{\nu k} A_\nu^m(\tau) dt d\tau = A_m(\varepsilon) + E_m,$$

where

$$E_m = \int_{T_\varepsilon} \int_{T_\varepsilon} \sum_{n=0}^m \chi_{mn}(t)\chi_{mn}(\tau) \sum_{k=0}^m \varphi_k(t)\varphi_k(\tau) \left[\frac{\lambda_n}{\lambda_k} (\alpha_{mk} - \alpha_{nk}) \right]^2 dt d\tau.$$

By (13) and Bessel's inequality we get

$$\begin{aligned} E_m &= \sum_{n=0}^{m-1} \sum_{k=0}^m \left[\frac{\lambda_n}{\lambda_k} (\alpha_{mk} - \alpha_{nk}) \right]^2 \left(\int_{T_\varepsilon} \varphi_k(t)\chi_{mn}(t) dt \right)^2 = \\ &O(1) \sum_{n=0}^m \sum_{\nu=0}^{\infty} \left(\int_{T_\varepsilon} \varphi_\nu(t)\chi_{mn}(t) dt \right)^2 = \\ &O(1) \sum_{n=0}^m \int_{T_\varepsilon} \chi_{mn}^2(t) dt = \\ &O(1) \int_{T_\varepsilon} \sum_{n=0}^m \chi_{mn}(t) dt = O(1). \end{aligned}$$

Therefore condition (12) holds. \square

References

1. S. Baron, *Introduction to the Theory of Summability of Series*, Valgus, Tallinn, 1977. (Russian)
2. G. Kangro, *Summability factors of Bohr-Hardy type for a given rate I*, Eesti NSV Tead. Akad. Toimetised Füüs.- Mat. **18** (1969), 137–146. (Russian)
3. G. Kangro, *Summability factors for series that are λ -bounded by the Riesz and Cesàro methods*, Tartu Riikl. Ül. Toimetised **277** (1971), 136–154. (Russian)
4. G. Kangro and F. Vichman, *Abstract summability factors for the method of weighted Riesz means*, Tartu Riikl. Ül. Toimetised **102** (1961), 209–225. (Russian)
5. H. Tüرنpü, *Almost everywhere convergence of function series*, Tartu Riikl. Ül. Toimetised **281** (1971), 140–151. (Russian)
6. H. Tüرنpü, *Summability of function series almost everywhere*, Tartu Riikl. Ül. Toimetised **305** (1972), 199–212. (Russian)
7. H. Tüرنpü, *Lebesgue functions and summability of functional series with speed almost everywhere*, Acta Comment. Univ. Tartuensis Math. **1** (1996), 39–54.

INSTITUTE OF PURE MATHEMATICS, UNIVERSITY OF TARTU, 50090 TARTU, ESTONIA
E-mail address: natalia@math.ut.ee